Cruise control

USING CRUISE CONTROL 4. CANCEL: Press to cancel but retain the set

& In certain conditions, such as a steep Z‘:efd n t::‘; Tmo?" be cancelled if:
gradient, the vehicle's speed may uise contro also be cancefled il

exceed the set cruising speed. This is ¢ The brake pedal is pressed.
because engine braking is unable to * The gear selector is moved to Neutral
maintain or reduce the vehicle's speed. (N) or Reverse (R).

Driver intervention may be required.

Note: Cruise control is not available when using
Hill Descent Control (HDC) or when the Sand,
Mud or Rock Crawl Terrain response programs

* HDC or Dynamic mode are activated.

* The Electric parking brake (EPB) is
applied.

The system is operated by controls mounted

are selected. ! !

) » on the steering wheel. The driver can also
Note: Do not use Cruise control when driving intervene at any time, by use of the brake or
off-road. ’

accelerator pedals.

Note: If the accelerator pedal is pressed to
over-ride Cruise control for a period of more
than 5 minutes, Cruise control will be cancelled.

1. SET+: Press to set the speed or to increase
the set speed. The Cruise control indicator
illuminates to confirm that Cruise control
is operational (see 54, CRUISE CONTROL
(GREEN)).

The cruising speed can also be increased
using the accelerator. When the desired
speed is reached, press the button to set
and maintain the new speed.

Note: Cruise control can only be engaged
at speeds above 32 km/h (20 mph,).

2. RES: Press to resume the set speed.

(D RES should be used only if the driver is
aware of the set speed and intends to
return to it.

3. Press to decrease the set speed.
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